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P (2)
PART I/ 9T I
CHILD DEVELOPMENT AND PEDAGOGY / §1d1 fd&m g ﬁm

Directions : Answer the following questions by ﬁi‘w ffafad gval & 3w é# 3;' I%IQ ‘HE’# 3fad

selecting the most appropriate option. ey W /

15 Environmental factors that shape £ frefafaa i Q ¥ ofafs oot
development include all of the following TR 1Tt ﬁT e % ’
except SR
(1) quality of education (1) fewr = OTTcHeR T
(2) physique (2) WHRE T
(3) quality of nutrition (3) e @ qoTerd

(4) Gl

(4)  culture

2.  Seema learns cvery lesson very quickly but 2. WM & uR Eﬁa@a siedl i Ad & s
Leena takes longer to learn them. It denotes eiT =9 @R # e g adl ¢ U fae
the developmental principle of & fagia ﬁ ggitar * |
(1) continuity e
(2) general (o specific :

(3) individual differences

g faftm & R
[EEG]]

(4)  inter-relationships

3.  Devclopment starts from 3. faam I[& a8
(1) the stage of infancy 5 Q‘\W e
(2) pre-childhood stage (2) vd-areTaRr |
(3) post-childhood stage (3) IW-arcgE o
(4) pre-natal stage (4) SEEqE STERd 9

4. Which of the following is predominantly a |4, frafafad & ¥ Si9-91 = zaq g aﬁaﬁm
heredity related factor ? g R & 2

(1) Attitude t ds pe [ ‘ ]
itude towards peer group 1) WW%W%WM

@ e ted

(3) Colour of the eyes : @) R

(4) Participation in social activities @) . Barfirf TﬁT H# s

(2) Thinking pattern




(3)

Teachers are advised to
learners in group activities because, besides
facilitating learning, they also help in

(1) Value conflicts

(2) Aggression

(3) Anxiety

(4) Socialization

A student is aggressive in his behaviour
towards his peer group and does not conform
to the norms of the school. This student
needs help in

(1) Cognitive domain
(2) Psychomotor domain
(3) Affective domain

(4) Higher order thinking skills

The stage...of ,
according to Piaget, in which a child display
‘object permanence’ is SE
(1) Sensorimotor stage

(2) Pre-operational stage

(3)  Concrete operational stage

(4)  Formal operational stage

According to Kohlberg, the thinking process
involved in judgments about questions of right

and wrong is called

(1) Moral realism
(2) Moral dilemma
(3) Morality co-operation

(4) Moral reasoning

involve their [5.

' WWH’@W ) e T d 2

fornféai = nfafafedi ¥ wnfrer

FHifs dEd - gm =R F e,
¥ off werEar & ?

(1) T g3

(2)  STEHWHA

(3) gf¥=m

(1) HaRs =T

(2) Yo-Hishareas =wor

(3) o sk =T

4) SR dfmarcrs wor

HleEEl & SFTER, W IR AW F 9 F W
4 fofa a9 wifter faaq-sfear #1 wer s
? 3
(1) s ggrefar
(2) Afce g

(3) g & Acrwar

(4) Afas o




14.

15.

16.

17.

18.

(5)

A good textbook avoids
(1) éender bias

(2) gender sensitivity
(3) gender equality

(4) social responsibility

Gifted students will realize their potential
when

(1) they are segregated from other students
(2) they attend private coaching classes
(3) they are tested frequently

(4) they learn with other students

Inclusive education refers to a school

education system that

(1) includes children with disability

(2) includes children regardless of physical, |

intellectual, social, linguistic or other
differently abled conditions

(3) encourages education of children with
special needs through exelusive schools

(4)  emphasizes the need to promotel]
education of the girl child only

Dyslexia® “is associated  mainly
difficulties in

(1) speaking

(2) speaking and hearing

(3) hearing

(4) reading
The major frustration that children with
hearing loss face in the classroom is

(1) the inability to read the prescrlbed
textbook

(2) the inability to participate in sports
and games

(3) the inability to communicate or share
information with others

(4) the inability to take examinations with
other students

14,

15.

16.

b

18.

T 378 Iy qwi Qe @
(1) dfirs qafye

(2) ofi Haeaeferr

(8) s wHEE

(4) 9SS TR FE

sfaurenedt faendf st emenell @ @@ fasfud

F AN e

(1) € o= faenfiRll § srem fpar smom

2 9 foit e wenell § @

(3) WR-ER I wem

@ 9 3 foaf¥di & @y sifrm-wfem
e

v foer 3w fremerh fen sEer 3 sk

Yohd Hl 2

1 S o R T W e e 2

(2) Sl 3H_VHRE, o, T, o
mmﬁmmﬁaﬁa‘raﬁmﬁ
r@aﬁtmﬂaaﬁaﬁwﬁa?mﬁé

Tewifermar g&7 &9
¥ grfya § |

(1) 9

(2) WM 9 g

(3) gH
(4) TG

Wam@maémﬁmmg@
YT (FU31) 1 T = § 2

(1) WeIfeq ToE-6s H U 9 owmwar
@) Wa-F< § yrieRar fom & swmar

m%mmmwmshﬁ
died # mmar

R i % e e 3 A s




P (6)
19. The ‘doing’ aspect, of behaviour falls in the ~ [19. =9RR & ‘@ Uy ¥ 3rar &

(1) Cognitive domain of learning (1) Fﬁ'@ﬁ F Gy 8
(2)  Affective domain of learning (2) HEd & AETs 8
(3) Conative domain of learnmg ©® dET ¥ s (m) 93.:[

(4) Psychological domain of learning ; .
@) ¥t F rEEtE oy

20. Astuden't vs{orks. hard to clea.r an entrance test 20, T fad AR 23 ﬁ q O
for admission into a medical college. The [
g ; mwﬁmm%ma‘émmﬁ:ﬁﬁﬁ
student is said to be motivated
Ak I wEms _ wy @ iR

(1) intrinsically % |

(2) extrinsically (1) 3als
(3) individually (2) 4=

(4) experientially (3) s

(4)  smgufas
21. A teacher engages her learners in'a numper of :

group activities such as group diseussions; 21, U&. ¥R 39 rﬂ&ﬂﬁ?ﬂ E3 aqﬁq; TE H

group projects, role plays, etc. The learning gpﬂ%gﬁ Tafate= o ER?T R EC il g R
dimension it hlghhghts is :

(1) language-guided learning g
(2) competition-based learmn
'a e

(3)learning as a social activity

(4) learning through recreation

RS g e
22.  Creativity is usually associated with ' ' a 3 3
22, GSHATHSR & e g |

(1) Convergent thinking : ; .

1 fEd o
(2) Divergent thinkin 1

. " (2) 9Er (sgfaw) faam

(3) Modelling , 3) T :

(4) Imitation

23. A teacher always helps her learners link the 23. QEB. forfeyan SWﬁ forenfsai =y qéa 3 ®Y §
knowledge they have derived in one subject eI <t & 5 3 & fovg-83 ¥ g I F
area with the knowledge from other subject | Qfﬁ faa-29i % 39 ¥ 9y T & | T
areas. This helps to promote F TEET firerar ? ,y'
(1) individual differences : (1) : éwﬁsas IEEGIE)
(2)  learner autonomy (2) foremelf-warrmar
(3) reinforcement () YAseH

(4)  correlation and transfer of knowledge @ I F T-gEY U 3T




24.

25.

26.

27.

(7)

Teachers should study the errors of their

students as they often indicate the

(1) extent of their knowledge

(2) remedial strategies needed
(3) pathways for ability grouping
(4) need for differentiated curriculum

When previous learning makes no difference

at all to the learning in a new situation, it is

called

(1) Positive transfer of learning

(2) Negative transfer of learning
(3)  Zero transfer of learning

(4) Absolute transfer of learning

According to Piaget’s cognitive theory of

lcarning, the proccss by which the cognifs
structure is modified is called

(1) Assimilation

(2)
(3)
(4)

Schema
Perception

Accommodation

According to theories of motivation, a teacher

can enhance learning by

(1) not having any from

students

expectations

(2) setting extremely high expectations

from students

(3) setting realistic expectations from
students
(4) setting uniform standards of |

expectations

24.

25.

|26.

217.

(19
(2)

P
foement @ orgw faenfiel &t fedi @1 smem
FC T s F W @ @R
Hahd el ¢ |
I JA F
AEvIF STARIHE  gfehall

zﬂvwaﬁ%awwwﬁ%g
fem-fdsr

i yHR & uggEal @ SEvEERdT

(1)
(2)
3

(4)

o yd @ oftrm 7 fafwll & dad @l
focgper wfad @ @, @ W@
%‘ﬁﬁﬂ%l

S FI FHRHS AHI 0T

A & AFRES  THOT

H I TIEAT

%WW%WW%W,
a8 Wichar S §RT ST SCEAT S genfid
fPrSare, 2 @@adi g |

(1) GHEYH
2 @
(83) TIIUT

(4) FHESH

sdon % Rrgidi % swER, o fws
* 30 e F gafa R T ¢ |
foranfdi & foreh wR A sEd 7 TR
foanfidi § ga =9 smEd @A
ot & e s T
wﬁmﬁvmwwr@ﬁ

(1)
(2)
(3)
4)
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28.

29.

30.

(8)

A teacher uses audio-visual aids and physical |28.

activities in her teaching because they
(1) provide a diversion to learners

(2) utilize maximum number of senses to
enhance learning

(3) provide relief to the teacher

(4) facilitate effective assessment

When a teacher involves a visually challenged
learner in group activities with the other

learners of the class, she is

(1)° helping all the learners to develop
sympathy towards the  visually
challenged learner

(2) likely to increase the stress on th
visually challenged learnciiiiim 40

(3) creating barriers to lea @g or
class divcs

(4) acting according to the
inclusive education

spirit  of

Science and Art exhibitions, music and dance

shows and bringing out school magazines, are 30

meant to

(1) establish a name for the school

(2) satisfy the parents

(3) provide a creative channel for learners

(4)  train students for various professions

29.

w o Y fom § qva-wen wf ok
TRIRe Tfafafedl & yam st @ Fiifs
(1 3 foenfa i Afaer sucreer s @
@ W w1 ST dey @

® 3 fome 9 oWH 2§

@) q wUE A H W T

S we ol gfeanfea feendl & wan & oy
fenfd & g umRes el ¥ we
amﬁ% a 9%

wmﬁmﬁmﬁm%m
Wﬁmaﬁﬁmm@%

) gfveifyd fRemdl ® awveg e 9w @

3) % fow wes ¥ T S W @

g

(4) goEel foem & @ & SR FE W
@ R

form W e weRifEl, S ©d g wqfEt
o foererg-ufe fere, F fow §

(1) ﬁummm_ﬂmaﬂﬁ
(@ T @ ggE W
3 ﬁmﬁﬁiaﬁmmﬁmm

(@) T e ¥ R R S st
= .




(9)

»

Candidates have to do questions 31 to 90 EITHER
from Part II (Mathematics and Science) OR from
Part 111 (Social Studies/Social Science). :

ey g R e g —
FrsiT) a1 T 11 (T sTeRa) arafs )
dad

PART II / 91T 11

MATHEMATICS AND

Directions : Answer the following : questions by
selecting the most appropriate option.

81. 4-(2-9°+3"+14+3 isequalto

il
(2) 16
3) 15
4) 12
32. Which of the fractions is the least ?
v 4
y
(3) —1%%
68
(4) 35
33. When the numbgr 398 is divided by 5, the
remainder is
i 1
(2 2
3) 3
4) 4

SCIENCE / 7ford 9 fasm=

A s B 2 & SRR
faeweq gia |

4-(2-904+32+14+3 f5EF R L ?

31.
(nH 17
(2) 16
3) 15
4) 12

32. f 4 3 sl9-9t AT geg S 2

33.

T 398 A 5 W A FE W, I Wl @
@ 1 |

@ 2

3 3

4) 4

SPACE FOR ROUGH WORK / Y% &4 & foie sme




P , (10)

34.  Two positive numbers x and y are inversely |34. ‘ A YT F@ITQ x 3 y W t | afg

proportional. If x increases by 10%, then y x ¥ 10% 3fg At 2, aw y 7 & gnf
decreases by :

M 10% 109
: ik

(2 %% A H?’
~ : 100

kaics
3) %?% ; S
10

u)-g% M)'H%

35. How many times will I be writing 2-if I35 4 H w119 199 fert @, a 8 fopaett

wrote down numbers from 11 to 199 ?. R 2 forar 22
Y (1 36
(2) 37

2

3) 38
4) 39 iEal

36. Theexpressionxz—y2+x+y—z2+2yz—z 36. s x2—y2+x+y—z?‘+2yz-z$I'Q$

has one factor, which is : TES J

D y-x+2z () Fmxsg
@ ix-yrz+d 2 x-y+z+1
B) x+y-z+1 - 3. (3) x+&—i+1
4 x-y-z4+1 4) k—yfz+1

SPACE FOR ROUGH WORK / X5 &7 3 fore s




37.

38.

39.

(11)

Given n numbers, n > 1, of which, one is

i . and all others are 1’s. The mean of

n
the n numbers is
e §

1
(2) on ===

1’12
(3) n-— %

n

1
o P e

n2

Shown here are expressions given to Seema,
Anees, Asha and Tessy with their answers.

Seema :4x1+8+2=8
6+4+2-1=4
Asha : 9 + 3R d +— 2 = 10
Tessy : 27 7S =28 = 21

Anees :

Who has got the correct answer ?

(1) Seema
(2) Anees
(3) ' Asha
(4) Tessy
. AT
1 6
B=3 + (4 =5)+6]
C=13 +@ =5bll=8 and
D=3+4( +6) then
(1) A and B are equal
(2) A and C are equal
(3) A and D are equal
(4) All are equal

37.

38.

P
nmaﬂg%,aﬁ n>1?,3ﬂ1ﬁ5’ﬁﬁﬂ
WEE 1-1 dew A et 1dE | W

‘n
n GE&RT @ wer @

Y
44
(2) n-—n—2
(3) n—l
n
1
(4) 1—;—2— ,
drmr, 3, e SR 2H &I S e feu
§ 3 99 7% S gfed quiw T E
" 4x1+8+2=8

I :6+4+2-1=4

MM : 9+3x2-4+2=10

adt: 27+3_2x3=-21 ,
T T ol s Wi fhar @ 2
@ ¥ | '

i
da

B=3+[(4+5) +6]
C =3 +(4+5)]+6 aquq
D=3+4(5+6) @,
(1) AR BaUR &
2 AR CWR §
3) A3R D TR §
@) Ff R ?

(2)

SPACE FOR ROUGH WORK / X% &1d & fore 7




40.

41.

.42,

‘In the figure, ABC is an isosc

¢12)
Given the numbers 3-75 x 10“7, 3% X 10_7, 40.

375 x 10~ and ;33: % 1% Which of exc is
not equal to 0-000000375 ?

(1) 375 % 1077
3
— W
4
(3) 375 x 1072

2 3 1077

(4) g x 1077

The diameter of a cylindrical jar is increased
by 25%. By what percent must the height of
the jar be decreased so that there is no
change dn its volume ?

(1) 10
(2) £ 25
(3) 36
4) 54

41.

with CA = CB and BC is p
point D. If CE L BC, such that

éU:lZEzllA,
2 2

then measure of ~ ACD is

(1) 110°
(2) 120°
(3) 135°
(4) 140°

r

@t 375 x 1077, 3% x 1077, 375 x 100 3k

§x10‘7ﬁﬂ§'%’ls=lffﬁﬂﬂ=r-%ﬁﬂ'@l

8
0:000000375 ¥ ST 7gF & ?
(1) 875 x 10”7

3
— X
4
3) 375 x 10~

3

4) = 1077

@mm%ﬁmﬁ%%aﬁqﬁgﬁﬁ
%lwaﬂaﬁﬁéﬁaﬁﬂﬁmﬁmﬁm
aﬁ-m%wﬁaﬁs‘»m =r3‘1?

@ 8> x107

- ERPR R

e 2

3) 36

4) 54

5, ABC UF wAfgaR fp @, ford
BC & T g D 7 werm
CE L BC, 39 59K 2 f5

=££E=l/_’A
2 2

g @ 2ACD % Wy 2
A

B CVD :

E :
@ 110°
@ 120°
3 135°
4) 140°

SPACE FOR ROUGH WORK /X% &1 & fore smre




2 : (18) | : P
43. A large basket of fruits contains 3 oranges, |43. & ®ell @ e CAE TR 3 F'?Ii, 2 qq 3?1'(
g
2 apples and 5 bananas. If a piece of fruit is 5 &l ? | g0 q e & wT F m ®Y
chosen at random, what is the probablllty of = A
getting an orange or a banana (ish i § 'WHT .%’ g T FR A T
& B W WfEwar = gl 2

4
e < )
5 - x

1 '5) :
@) 2 1
2 =
. 2
® 3 5
3 =
. 8
= 1
Ay
(4) 5

44, The symbol A, drawn to any size means ;
a + 4, and the symbol LE], drawn to any size . :
4. Ghad A\, TR T FR f R @ @, W

means b2, where-a and b are numbers. Then

the value of = : HACd a + 4, a4 SEE] [B], i‘% a8 fohdl o

STFR L&, Bl e b, ﬁaaaﬁtbm
A+ A=\ : %1 _

is \

1) 73

(2) 435

(3) B o=

(2): 9
4 9

45. If xy=6 and x2y+xy2+x+yv=63, then |45 gz xy =6 3R x%y + Xy’ +x+y=63 &, zﬁ

the value of x2-4-y2 is x+y235l’qﬁ%

=23 (1) 23

(2) 55 (2) 55 .

W er - ke

4) 69 - @ 69

SPACE FOR ROUGH WORK / Y% &1 & fale sme




(14)

The mean of the median, mode and range of [46. Stequif 6,6,9 14,8, 9, 9, 8 & e, Wﬂi !

the observations qgT TGR 1 oAy @
6,6,9,14,8,9,9, 8

is (1) 85
1) 85 | @ 88
@2 88 - 3) 10-3

3) 103 4) 105
4) 105 :

47. R W WG F AR, A A FAvm
W H, el ¥e (I fE) A wcem

According to the given graph, between which

two consecutive months was the change in the

auto sales the greatest ? BEE AfeF a1 ?
" Auto Sales ‘ A et oW
475 F — ; i 4"-75 - e

~ i S ; w B sE

g 45 - ; '

= 495} Byt 4-25 o Py
A )

e 4 ]

& 3751

8 35} -

d .

n 325

3r 3
Jan  Feb March Aprii May June : W wEd wd s W S

(1) January — February (1) SHE - wWad
(2) February — March : ‘ (2 wEd - e
(3) April - May . ® -
(4) May - June @ W-F

SPACE FOR ROUGH WORK / X% &1 & fore smre




48.

49.

50.

(15)

In the figure, in tnangles PQR and TQR,
PQ =TR and PR = TQ Wh:ch of the
following statements is truc &

Q i

P

(1) APQR = A TRQ

2) APQR = A TQR
(3) APQR=ARQT
4) APQR=A QTR

The least number which is a perfect square
and is also divisible by 10, 12, 15 and 1

(1) 3600
(2) 2500
(3) 1600
(4) 900

How many lines of symmetry does a

parallelogram have 4

(1) 3
(2) 2
(3) None
4) 4

48.

49.

50.

T #, ﬁgﬁhp@,& TQR #, PQ = TR 3k
PR=TQ¥ | fr= & § BT H TR 2
L .
P T
(1) APQR = A TRQ
(2) APQR=ATQR
(3) A PQR = A RQT
(4) APQR =A QTR

agaﬁz“r@aﬁz‘rm sﬁgﬂfaﬁa‘rm

1600

(4) 900

TF QIR aqs @ freel quffa Yand § 2
(1) 8

@2

(3) # T

4) 4
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Ankur got zero marks in a word problem on |51, 3T wlien # Yow whwwl w smyRe
linear ecquations in an assessment. The el i ;ﬁ» 113‘ e #f T stw fierar t |
teacher knows thaL he can solve linear f é 5 % ¥ — 2 W

equations corrcctly The tcacher ought to

remark in his report ‘ % A g m T B | oy ﬁ T fard
(1) Ankur is not btudymg and practlsmg at| RS
home 1+ 4 . ki | M) R W W T A wgw g sk o7
’ A FA

(2)  Ankur has not understood the concept

of linear equatwns completely (2) 3F F; ir@ﬂi Wm RETR Hheq
T W F e ¢

(3) Ankur has a problem in comprehendmg

the language of the question, though he ;g( H% m Eﬁ ST Wﬁ L HITE
can solve the equations L _ aﬁF;T IGF U9 HeeRToif Hn:'[
A W T 2

(4)  Ankur lacks concentration and hence
has examination phobia (4) 3]3,‘{ § wwhmr # % fore oo @
ECLE I SCIR Ol

A suitable approach to introduce-Coordinate
; ; 52. mmﬁﬁmwﬁﬁwm%m

Geometry in Class IX is through the use of
(1) Lecture method SS9 W‘T'T 3

2 Role play (1) =re q::qﬁr

) e frafe (I @)

THFRE. F YT FW gy

(3) Demonstration using technolo
integration

(4)  Solving problems

(4) 99E1 qAYE
Summative  Assessment of the unit 53. ‘eEfufy THE H ANMHF A : -
‘Mensuration’ can be done through = ﬁmr T % |
(1) Project work : 1) R et |
(2) Maths Lab activity ° (@) T g—q};m nfafafy
(3) Paper-pencil test (3) T-Ufger e |
(4) ICT activity (4 STEHA. wafaf

SPACE FOR ROUGH WORK / X% &1 & e smre
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55.

(17)

While solving a problem based ©on
‘Pythagoras theorem’, a teacher draws the
following triangle ABC.

A )
Rajan argued that the tnangle ABC is not
drawn correctly. The only way to draw it is
A b il

1

B C
Rajan has the misconception as
(1) he is weakuin geometrical concepts

(2)  bhis teacher must have always drawn
the triangle in this particular way

(3) he'has dysgraphia
(4) he lacks in analytical ability

In order to help the students with diffi
in remembering the geometrical ter
their meaning, a teacher must

(1) stress on rote memorization of all terms
and definitions

(2)  use lots of activities like preparing or
solving  crossword puzzles, jig-saw
puzzles, etc. ;

(3) test students on  definition of

geometrical terms

(4) encourage group discussions

54.

P
TEYMIRE @RE W YIE 9o & & &

o7 T o fefafaa fys ABC ST 8 |

B

L | c
TS 48 % a1 @ 6 S ABC T e @
TE T T R | 3 A # WE alieT 2

N A

B C

B fdE heqare § wAsR @
;«;ﬂ%mﬁmsﬁwﬁwarw

(1)
(2)

a%a@q-am(mﬁm)ﬁm%
i favouTers amar T8 @

gl 3T 3% oref
TR el HA F

T PHLEGIE

Gk wd n

(e

T el iR uRWmsH @t e
IqC FH W I 1 =T :
Afys-T-3tfyss  fafafedl &1 w@nT F@r
Tfen, S — o Well (shiwae Usiey),
-9 weefl, afc @A m & '@ S

(3) SHHdE w=Ee & uRam W e
H ol o e
(4) TR TEiel & WoHifed FAT ARY
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56,

57.

bl (is) |
While teaéhing ratio and proportion, |56. 313‘11?[ 3k ?fql'j'qﬁ Wﬁ 4y, Hﬁ W B |
Ms. Rama demonstrated ~some computer F9 Fge Hfpand Rﬁl‘ﬂ A ¥ — ‘B L
operations on the screen — copy and paste’ ﬁ‘e‘ qu ‘st de mﬁf 0 ‘S 'lt,g ﬂm |

and ‘copy and enlarge’ or ‘copy and reduce’. '-qg nﬁ‘ﬁﬁ; & w8

This activity may be

. Wl (‘namma#mﬁiﬁﬁ%m
(1) pre-content §a§:tivity to iintroj’du'ce%.; ratio | ‘ ﬁW zrq {Ef TrﬁlﬁﬂﬁT

@ ﬁw—aa—mnﬁﬁﬁz
3) mmanmwﬁrﬁfir
@ mw@am%mmﬂﬁ!ﬁﬁ:

(2) post-content; activity
(3) formative aésessniént activity

(4)  fun activity to pass time

A student observed the following examples : 57. Us faadl frafefeg IR T 3TaE FET

(102 = (B + BR\= 52 + 265)5) + (= A00ssfrmmn i | _
= (6 + 4% =62 + 2(6)(4) + (42 £100 (10F = (5 + B = 52 4 5(5)6) + (6)2 = 100
=@+ 22=82+ 28)2) + 2= 100 = (6 + 42 = 6% + 2(6)4) + (4)2 = 100

d

= (8 +2)2 =82+ 2(8)(2) + (2)2 = 100

92'=12 & 2(1)(9) +1®)2 = 100
A

=(1+92=12+21)9 + (92 = 100

and concluded that
(a+ b’ Jat% 2(a)(b) + b |

The above method of drawing conclusions is (@ +b)® = a® + 2(a)(b) + b*.
(1) Deductive freed ferer =t S'Q'ﬁﬂi ysfa 2
‘ (1) e
(2) Inductive

(2) ATHATHS
(3) Analytical . @ F a ,

SPACE FOR ROUGH WORK / X% &1 % fore s



58.

59.

60.

(19) _ P

lots of manipulatives,

Mr. Manish used

Maths Lab activities and ICT activities to

clarify the concept of ‘Symmetry Mr.

Manish wants to :

(1) cater to students of all Iearnmg styles

(2) be popular amongst hls students

(3) pass time so that he can avoxd teachmg
of next topic, as it is noq of his interest

FLEpERES :: X

(4) cater to kinesthetic learners only

Problem solving method;i_s‘ the , ,

(1) gradual and systematic guiding through
the hierarchy of mathematical notions,
ideas and techniques

(2) teaching of mathematical results,
definitions and. concepts by repetltlon
and memorization ;

(3) teaching the development of

mathematics within a historical, social
and cultural context

(4) - cultivation of mathematical ingenuity,
creativity and heuristic thinki
making students open-minded
Salman solves — 3 — 4 = +7. The erro is
committed as

Salman is careless

(1)

(2) Salman is not clear about the concept

of addition of integers

(3) Salman needs to practise

problems of similar type

solving

(4) Salman has not understood the concept

of multiplication of integers

58. aﬁmwﬁaﬁf aﬁmaﬁwaﬁ%-
magaaﬁm(ﬁv{é&m),
sEirTen Tfafafedl don ad A, it &
mﬁaﬁél’ﬁrm
1) Wi sfrm Wferi A frEl A A
HET TR § |

(@ o fEfE § s @ e ¥

3) W T HA AR § A A e
wvémﬁaaaa; o3 ¥
qﬂ- .

(4) Wwﬁ@%mﬁﬁaﬁmm
R §

59. GHE-THEH TS 2 _

(1) T aeyaE, e SR deeel &
TIpAARAl % WA W ShiHeh  qdl
_aftyd foem-fady
Wﬁraﬁtwémmﬁﬁﬁ
Rt g GeheueNt whl YeHl

(3) TG & fdh@ ' Qfeldd, QA

wﬁmmﬁﬁm

oy gl A gU S
gﬁﬁwmaﬁ@am

faa=. fasfaa &
60. HTHH —3—4 = +7 B & Hl 8 | H T® I
1 T 7
(1) HeHH ANER 2
(2) UOWE H QOB & ITHA H Hehed
Wy T 2
(3) HANH F GAF YHR H GHERT @ g
FA F TG & HEYIHA &
(4),Wﬁm%waﬁm

gug # @ omE @
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61.

62.

63.

(20)

The following observations were made by
students A, B, C and D when they rubbed
solid baking soda on dry litmus paper :

Effect on dry | Effect on dry
Student red litmus blue litmus
paper paper
Colour changed 1
A té bl@e NQ change
B No change Colour changed
; _ to red
C Colour changed | Colour changed |
to blue to red
D No change No change

The correct observation was made by the
student

(1) A
(2) B
3) +C
(4) D

divisions between the markings ." 
56°C. This means that the ther lomct
read correctly up to B

GRS A

(2) 55-5°C

(3) 55-2°C

(1) 56-25°C

Which of the following group of words can be
correctly identified with Rhizobium ?

(1) Root nodules, pitcher plant, nitrogen
deficient soil

(2) Nitrogen fixation, root nodules,

leguminous plants

(3) Roots of legumes,

parasite, soluble
nitrogen compounds i

(4) Leguminous plants, symbiotic, stem
nodes

ferenfédi A, B, ¢ 741 D ¥ v §@ forom v w
3N AT W (@R W W) o, @

. Frefefen s fig

| @ T o | q@ 7 o

o ek 77 W g
& e | T H W
c | MW Haea | et &1 7 qem

ST 2 ST @

D | € wom 78 | #¢ weom 781

ﬁmﬁmﬁfmﬁmwm@maﬁd?

() A

2 B

@ C

@ D

ST AgHTd (eieR) 55°C 3R 56°C
1S fordier eI e @ | 3w
AT % 3fad w7 §
21 '

(1) 551°C
(2) 555°C
(3) 552°C
(4) 55-25°C

63. frffad # ¥ #-3 w=-wgE % ey

& WY e T Y TG ST qwAr @ 2

1) Wt A, weel,, gt @
F e

@) A ferda, s€t & 9hrT, woier
i

(3) WeleR weH # w7, W, faegsia

ARSI i
(4) elleR Uy, weshdl, @y & ufy




64.

65.

66.

67.

68.

(21)

When carbon dioxide is passed through clear
lime water solution, it turns ‘milky. The
milky appearance of lime water iis due to

(1) presence of xmpuntwb in hm(, water

(2) presence of insoluble (,alclum carboxiate
(3) presence of soluble calclum carbonate
(4)

curdling of rmlk due to hme in hme
water i bt

When electric curfent is péaséed through a
metallic conductor, amount of heat produced
in the conductor depends on its

(1) material and length only

(2) length and thickness only

(3) material'and thickness only
(4) material, length and thickness

PET bottles and jars are commonly used for
storing edible items. PET is a very familiar
form/of

Polyester TRy
Acrylic
Rayon

(4) Polyamide

The minerals that are required in the right
amount for proper functioning of muscles are

(D)
(2)
(3)
4)

Iron and calcium
Sodium and potassium
Iodine and fluorine

Iron and iodine

Antibiotics are effective against
(D
(2)
(3)
(4)

Dengue Fever
Cholera
Influenza

Hepatitis A

64.

66.

67.

68.
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(22)

69. When CNG or LPG undergoes complete

70.

71.

72.

73.

combustion, the products formed are
(1) CO, only |
(2) €O, CO and H,0

(3) CO,and H,0

(4) CO,, SO, and :Iizo»

The smallest of hvmg orga:msms w1th cell
wall are it :

(1)
(2)
(3)
(4)

Cyanobacteria

Bacteria :

Yeast

Algae

The process of converting into
alcohols is known as

(1)
(2)
(3)
(4)

sugars

Homogenization
Fermentation
Pasteurization
Sterilization

The SI unit of calorifie éalue is
(1) Kikg '

(2) Calorie

(3) Jkg

(4)  Kilocalorie/kg

Given below are a few chemical processes :
a.  Rusting of iron

b.  Burning of a candle

¢.  Respiration

d.  Photosynthesis

Which two of
combustion ?

(1) bande
(2) bandd

(3)
(4)

these represent  slow

d and a

a and ¢

69,

70.

71.

73.

Wﬁ@\‘rﬁ o wE S & oyl qe g g,
aawaaa?‘f?

) FFd CO,
-(25 CO,, CO W H,0
(3) €O, T H,0
(4) CO,, SO, T H,0
e fafe aren wad S woh e 2
(1) RARFRE
@ S
@ A=
(4) T

THIAE. THE &

) TerRE S e (KJ/kg)
2 FAF (Calorie)
@) ¥ 5 fFdmm gkg)
(@) frelidad wfa framm (Kilocalorie/kg)
T ¥ Tl st 4 é g
a. @R W S A
b. HiWewl F ST
c. RELE]
d.  THY-Gyemur

sﬂﬁ@aﬁqﬁazﬁﬁmaﬁmﬁ%7
(1) b3 ¢
) bsﬂxd
3 d3il a
4) a3ﬁ1c
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75.

76.

T,

78.

(23)

Which one of the lullomng man-made ﬁbres
is also called artifidial sllk ?

(1) ' Nylon
(2) Rayon
(3) Acrylic
(4) Polyester

If the frequency of vxbrptmns of a body is
decreased and lts amphtude is 1ncreas<~:1d

then He 1 ‘ 75.

(1) both pitch andzj ﬁoudness of sound
produced will decrease v e

(2) both pitch and loudness of sound

produced will increase
(3)  pitch increases but loudness decreases

(4) pitch decreases‘but loudness increases

The dietary fibres are Y w6

(1) also called roughage
(2) made up of cellulose and proteins
(3) © made up of collagen fibres

(4) made up of proteins
Which of the following statements rel 268806 |
earthquakes is not correct ?

(1) The Richter Scale is not linear but
logarithmic,

(2) The seismic waves originate from focus.

(3) The record of the seismic waves is
called seismograph.

(4) The seismograph
seismogram.

records the

The gas which forms carboxy-haemoglobin in
the blood, causing suffocation is

(1) Carbon dioxide
(2) Chlorofluorocarbon
(3) Carbon monoxide

(4) Nitrogen

71.
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79.

80.

(24)

The gases present in atmosphere that cause |79,
greenhouse effect are "
(1) Carbon dioxide, sulphur dioxide,

methane Hi
(2)  Nitrous oxide, oXygen, water vapour
(3)  Methane, water vépour,_“cafbon dioxide
(4) Carbon dioxide, 6xygen, hitrogen
In order to determine 5a‘cidic, basic or neutral |80.

character of solutions, a student tabulated the |

following results after experimentation, Which
of the

tabulated correetl 37

following ~ observations has been

(1) FmEe

FH-HL & 2

RESESIGIEL a1 e p—
A

(2) RZH SIS, ST, or-ang

(3) ﬁhmm EIEE BCHERS 2 s

@ Emﬁa STRIRAIES, SiivH, g

Pl % sl anfs @1 s g A

ﬁqkwmﬁ'%m,@mqﬁm%m

ﬁwﬁmmmmélﬁwﬁf@a
m@ﬁﬁ@uﬁmﬁwﬁm@m

Colour | Colour : 3 cleT i 5
Test change | change | Acidic/ e | ey 97 | [e7eHg gy £
Case ke on red | on blue | Basic/ T Ty Ty &R/
it ution litmus litmus | Neutral Wq @Wﬁﬁ , Wq ﬁamﬁr'ﬁ JergiT
| paper paper
A | Naci | No Red A qﬁqa:fqag 1 B B
: change Tl
Lime No zf\r Sl £l
B .| 3T
B water Tie change Noutral qrt e IRaa Bl
: No No ' E3H] FE
C | Vinegar change | change Neutral C| faa it T | ufiaedt T SHEIC
Washing No ;
D Bl B HUS g1
soda o change it D - Hrem qﬁa:a:f = AR
(1} - & (1) A
(2¥¢:B 2 B
3) € @0
(4) D (40 D
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82.

83.

84,

(26)

A Science teacher is mtcrcstcd to focus more
on acquisition of procch skills by the
learners. Which of the follpwmg combin;ltl()n
of methods of teaching should be preix.rred
by her to achieve Lho objeg,lves 2l i

(1
(2)

Assignment-cum- qucstwnu;ng mothod
Lecture-cum-dnscussx_on mqthod

(3) Project-cu m-labor‘atory“‘y method

(4) Lecture-cum-demonstration mctﬁod

Which one of the following is most suited to
the development of scientific skills in
students ? ;

(1) Conducting Science quiz

(2) Organizing a field visit

(3) Conducting Science Olympiads

(4) Performing laboratory work

Which one of the following is the major
objective of teaching™ of Seience at_upper
primary ctage ?

(1) To promote rational thinking

(2) To remember names of scientists and
scientific discoveries

3)

(4) To develop proficiency in solving
exercises given at the end of the
chapter

To learn important facts and formulae

Practical work in Science may be given due
emphasis in order to

(1) improve the percentage
obtained by the students

help the students develop the habit of
maintaining written records

of marks
(2)
(3)  'keep proper check on punctuality and
regularity of students

(4)  help the students verify the theoretical
concepts

81.

82.

83.

84.
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86.

87.

(26)

Project method in tcéé»_hing of Science is suited
most to

(1) promote unde?r.fétandiing ©of  basic
‘ concepts in Science

(2) enhance nuﬁlericai abilities of students
(3) strengthen reasoning skill of students
(4)  promote scientiﬁé metho'd of wdi'king

Constructivist approach in teaching of Science

refers to

(1)  applying different mathematical

formulae in solving problemsg

(2) providing experiential learning to
students

£)) pProviding more and more readin
material to students

(4) providing additional academ

weak students

Which one of the following is the key feature

of Formative Assessment in Science ?.

(1) Tt is conducted at the end of the year.

(2) It is diagnostic in nature,

(3) It is aimed at developing " scientific
temper in the students,

(4) It is aimed at enhancing practical

skills.

85.

86.

87.
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88.

89.

90.

(en)

Summative Assessment in Science should
mainly focus on & ’

(1) testing of mainly the practical skill‘s_

(2) testing important f_tﬁedreticél concepts
e

(3) assessing observaéidn skil'lsé;v

(4) diagnosing the éreas of learning

difficulties of studén‘ts_

One of the main limitations of the Project

method of teaching Science is that

(1) the students have to perform excessive

mental and physical work

(2) ‘ it is a psychological method

(3) knowledge is neot acquired

sequential manner
in various

(4) integration of concepts

subjects can be achieved

Assessment in Science should focus more on

testing the ability of students to

(1) state the facts and principles of Science
correctly

(2) apply the understanding of concepts to .

unfamiliar situations in everyday life v

(3) 'answer open-ended questions

(4) be sufficiently .equipped for higher

88.

89.
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Candidates have to do questions 31 to 90 EITHER
[from Part [I (Mathematics and Science) OR [from
Part III (Social Studies/Social Science),

Tigmat & gy 5, & 90 a7

@ 9T I (nfory ¢

&) ar srr 1y (Tl STET qrATTE i)
q &

PART III / 4717 I11
SOCIAL STUDIES / SOCIAL SCIENCE (WS sream / wrnfive fersrer)

31.  The East India Company used the Diwani
revenue from Bengal primarily in

(1) purchasing cotton and silk textiles in
India

(2) amassing stocks of gold and silver to
replenish  the dwindlipg " stocks in
Britain | :

(3) constructing bridges and roads

(4) building
universitieg

schools, colleges and

32. The East/{India Company set up a factory in
Bengal on the banks of Hugli in 1651 to
(1) manufacture cotton  textiles = for
eéxporting to England

(2)¢ buy spices for sending them to England

(3)  buy Indigo (Neel) from local 47__%‘5
send it to England

(4)  establish a bage from which ¢ BE
could operate

33.  The division of the period of Indian
into ‘Ancient’, ‘Medieval’,

History
and ‘Modern’ also
has problems. Which of the following is one
of the problems in it

(1)Thé concept has been borrowed from

associated science,
democracy, liberty and equality

(2) Indian History seems to have clear
lines of distinction between ‘Ancient’,
and ‘Medieval’, ang ‘Medieval’ ang
‘Modern’ period

(3) Tripartite division  reflects
growth of the Indian State

(4) Three periods are
describe Indian History

reason,

gradual

insufficient to

31.

32,

33.
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34.

35.

36.

37.

Which of the following was a part of temple |34.

architecture of the ninth century ?

(1) 'Yagya Vedi (Seat to perform qacred

incantation)

(2) Havan Kund (square pyramld shaped
pot with open mouth to hofd ﬁre)

(3)  Decorative gateway (Dwgra;) :

(4) Rangshala (place to ‘foerﬁémfl dance)

i
}

Pietra dura was a

(1)  Style of decoration of buildings
(2) Role of succession
(3) Greek god

(4)  Metallurgy technology

Who of the following was impeached
British Parliament ?

(1)~ Charles Clive
(2) Warren Hastings
(3) T.B. Macaulay

(4) Cornwallis

Which of the following combinations of 37

kingdoms was engaged in tripartite struggle ?

(1)  Chola, Rashtrakuta, Pala
(2) Pala, Pallava, Rashtrakuta
(3) Rashtrakuta, Pala, Gurjar-Pratihara

(4) Pala, Chola, Gurjar-Pratihara

(29)

‘(2) W 503 (Evf ﬁmﬁﬁm
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38.

39.

40.

41.

(30)

In 1720, the British Government enacted a

legislation called the Calico Act to

(1) ban the use of printed cotton textiles —
Chintz - in England

(2)  punish rebels from Calicut
(3) promote Calico industry in England

(4)  produce Calico textiles in England

Muhammad-Bin-Tughlaq shifted his capital
from Delhi to Daulatabad

(1) to escape from Mongols

(2)  to punish Southern rulers

(3) to control his empire effectively ag
Daulatabad was centrally located

(4) as he was not getting enough revenue
from North India

Tanti, Momin and Devangs communities

were engaged in

(1) Leather works
(2) Weaving

(3) Wood works
(4)  Pottery making

As a consequence of the Revolt of 1857,
which of the following was a change initiated
by the British Parliament ?

(1) Pathan and Sikh soldiers were banned
from joining the Rritish Indian Army

(2) All ruling chiefs of the country were
warned that military action would be
taken against them if they support any
rebellion ;

(3) A member of the British Cabinet was

appointed Secretary of State for India

(4), The land and property of prominent
Hindu and Muslim citizens who
supported the revolt were confiscated

38.

39.
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42,

43.

44,

45.

46.

(31)

Chera chicftains ruled in twelfth century in
the area presently lying in

(1) 'Chhuttisgurh/Mudh);a Pradesh
(2) Jharkhand/Bihar
(3) Uttarakhand/ULtair Pr:adesh

(4) Punjab/Haryana

Which of the Iol]owmg three unlversnies

were established in the ycar 1857 by the
British Government ?

(1) Calcutta, Madras :and Bbmbay
(2) Calcutta, Madras and Banaras
(3) Calcutta, Bombay and Punjab
(4) Calcutta, Bombay and Delhi

Tribal people do not kcep written records of
their past. How do present-day historians
write tribal history ?

(1) Using archaeolegieal sources

(2) Using oral traditions

(3) + Using natural traditions

(4)  Using tribal mythologies

Bidri was

(1) an inlay work in copper and silver done
by ‘the artisans of Bidar

(2) a type of silk textile produced in Bidar

(3) a type of cotton textile produced in
Bidar

(4) a type of copperware produced in Bidar

Which one of the following Sultans used the
Banjaras to transport grains to the city
markets ?

(1) Balban

(2)  Firoz-Shah Tughlaq

(3)  Muhammad-Bin-Tughlaq
(4) Alauddin Khilji
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47,

48,

49.

50.

51.

(32)

Which of the following tribal societies was

divided into khels ?

(1) Gond

(2)  Ahom
(3) Santhal
(4) Bhil

Why did Jazis emerge within Varnas, which
became the basis to organize Indian society ?
(1) Fierce opposition against Varng system
gave way to development of Jatis

(2)  Due to gradual expansion in social and
economic needs of the people, people
with new skill-setg were required

(3) There was a problem in integrating

tribal people into Varna system

(4)  Jatis and Varnas are onc and the same

A historical site js 4 place where

history-loving People gather

(2) “historians write history
(3)  relics of the past are found
(4) excavation activities are done I

What is ‘Common Era’ ?
(1) A new era to study historical events

(2)  Christian Era which is now accepted in
major parts of the world

Indian Era accepted by the government

(3)
to issue notices
(4) A new Era developed by amalgamation

of Hindu Era and Islamic Era

Which of the following combinations of
planets is known as ‘gaseous planets’ ?

(1)  Venus, Jupiter, Mars, Saturn

(2) Mars, Venus, Saturn, Uranus
(3) ‘Jupiter, Saturn, Uranus, Neptune
(4)  Jupiter, Mars, Earth, Neptune

47,

48'

49,

51.
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53.

54.

55.

56.

57.

(33)

If Ahmedabad is situated on 72°30'E
longitude, what would be the local time of
Ahmedabad if it is 8:00 am Indian
Standard Time ? L |

(1) 8:40 am
(2) 8:00 am
{8) 7:20.am
(4) T:00 am

Plantations, a type of commercxal farmmg,
require a large amount of '
(1) land and labour

(2) labour and capital |

(3) land and capital

(4) only capital

Vultures in the Indian subcontinent started
dying of kidney. failure shortly after

scavenging livestock treated with
(1) Diclofenac

(2)
(3) Ibuprofen
(4) Aldrin

Aspirin

Ahmedabad is. a _hub of cotton t

industry. Which of the following is one

factors for flourishing textile industr

Ahmedabad ?

(1) It is situated close to cotton growing area

(2) Its easy access to the Tuticorin Port

(3) Industrial Policy of the Indian
Government

(4) Availability of cheap labour-force -

Wind actions create ‘Mushroom rocks’ which
are usually found in .

(1) Hills

(2) Plateaus

(3) Deserts

(4) Tropical coastal areas

‘Blackfoot Indian’ is a

(1) disease prevalent in Nicobar Islands
(2) native tribe of North America

(3) plantation worker in Cuba

(4) migrant Indian in Canada

53.

52,

54,

I SEHEEE 72° 30’ E VIR
SEWCETE F WG g9 41
TR G99 8:00 am @ ?

(1) 8:40 am

(2) 8:00 am

(83) 7:20 am

(4) 7:00 am
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58. In nuclear power plants, electricity is |58, U] S wgE # farsted} &t wfr
generated through the process of S IqIfed Y et é |
(1) nuclear fusion (1) TR dee
((5)) ”““]'e‘“ ﬁslf,“’,“ (2) T fage
nuclear collision :
L (3) AR daga
(4) atomic vibrations ’ -
- (4) TEEy gy

59.  Which type of rainfall is represented in the : :
= ‘ . 59. ﬁﬁquﬁ@ﬁfﬂrmaﬂwaﬁm

diagram given below ?
T § ?

(1) ~Cyclonic rainfall | ;
(2)  Orographic rainfall ; v 1) = "Ena:qu :
(8) Convectional rainfall 2) )

: Hagl ant

(4) Frontal rainfall

60. The following diagram shows the

the Earth on a particular day. ﬂ. 1 ¢ : %
and E are locations on the Earth" | A,B,C,D T4I'E HQH'T R feafer

location will experience longest hours of | @i Rafg § fed &1 warr BEC e
daylight ? Y2l a%h @ ?

T A ¥ Ry & Ry

SUN : ;sz

) A % Y -
2 B 2 B
(8) G @ C
4) D (4)' D




61.

62.

63.

64.

L (es)
‘Right to Education’ is a Fundamentai Rightz 61.
under Article 21 which deals with ‘nght to

Life’ because

(1) education is iife
(2) not all people had right t':oi educatiori:  “
(3) education helps in leadmg a dlgmﬁed hfe

(4) only an educated person has right to hfe

Public Interest Litigation (PIL) has 2
(1) increased access to justice
(2) hampered the delivery of justice

(3) led to a/decrease in judicial activism

(4) hampered government functioning

All Indians should have a right to vote |63.

irrespective  of their soelo-economlc S

This idea can be associated w1th

(1) - B.R. Ambedkar
(2) Jawaharlal Nehru
(3) Mahatma Gandhi

(4) Dr. Rajendra Prasad

The first hour of every sitting of the Lok .

Sabha is called
(1) Zero hour
(2) Qﬁestion hour

(3) Public hour

(4) Privilege hour
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- (36)

According to the Indian Constitution, the |65, Wy dfeye gro fear war ______m
right empowering citizens to move to High ! g Wﬁ' GGl '8 f& 3 I AR
Court or Supreme Court if they believe that X g 4 af s w /

any of their Fundamental Rights has been

violated by the State, is ¢ 7% wifers sl @ R g St
(1) Right against exploitation g é I

(2)  Right to equality : (1) ¥ & foreg sifirepr

(3) Right to life ' (2) WAEC & AR

(4)  Right to constitutional remedies (3) ST & sifirer

4) "l SRl & srfEr
Showcasing adivasis as wearing colourful

costumes, headgear and dancing often |66. aufeafaadl &1 r-fadd *YS T, R W qFe
results in maﬁtwmﬁ-mﬁgqmmmﬁm&a
(1) promoting adivasi culture #1 % gfon Y e

(2)  demonstrating the diversity of Indian (1)  3nfeareh EOIEQiﬁI it T | Su S

culture ; (2) 9Rd™ Ui %t fafqeyar yefim gt 2
(3)  attracting attention of the world to the ; (3) R & & ‘Tﬁ'ﬂ’! snfeanfeat &

plight of poor adivasis : ' HEE & oM i giar 2 ‘
(4) discriminating against such groups 4y 39 R 3 Wi‘g?[ * giq ‘ﬁ?(‘qﬁ '(?fﬂT é

S e ¥, st
Fi S F F U =grEmiy
HHERT H NG @R ZW

The Government of India a
committee headed by Justice
Sachar to examine the social, e
educational status of which of t

communities ? . i fafa & 1eq far mr 2
(1) Jain ; 1) W=
(2) Sikh @ fFE
(3) Anglo-Indian _ (3) 3IHTA-9Rdg
(4) Muslim : : (4) ﬂﬁT‘W
68. AT B __ ¥ ww fraciy g

Media is no longer considered independent

because of its close links with & FROT W Tl A St 1 oy
(1)  Government agencies : (1) F@Fl’ﬁ Q‘\aﬁﬁ’-ﬁ

(2) Business houses (2)  e ERF-ﬁ :

(3) NGOs 3) R-THH demsi

(4)  Civil society (4) AR gare
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C.K. Janu is a very eminent 69.
| 1
(1) Adivasi activist
(2) Environmentalist |
(3) Script writer
(4) Anthropologist
£ 70.
‘Putting out system’ is , "
(1) whereby merchants sell their |
merchandise on instalments
(2)  whereby merchants force labourers to
work for extra hours
(3) whereby merchants give advances and
receive the product
(4) whereby merchants supply raw material 71.
and receive finished product
‘Learning Without Burden (1993)
recommended that _learning in S

Sciences should -

(1) helpinm the retention of importan
information

(2) promote developing bconcepts and
abilities to analyse socio-political
realities

(3) develop skills relevant to jobs

(4) continue to follow the epistemological
framework of highlighting
developmental issues

The book ‘Social and Political Life-II’

advocates which of the following forms of
evaluation, among other forms ?

(1)
(2)
(3)
(4)

Open book exercises
Personal interviews
IT (computer) enabled evaluation

Written mode of examination
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75.

(38)

While teaching ‘Poverty’, which strategy
would be most appropriate ?

(1) Prepare notes and deliver a good lecture
(2) Give hand-outs to students and explain

(3) Engage students in and

discussions

debate

(4) Ask students to read from the textbook
and explain the difficult words

The National Curriculum Framework 2005,
suggests that instead of ‘Civics’, the term
‘Political Science’ be used because

(1) The term ‘Civies’ was coined in the Raj
era and is associated with obedience
and loyalty

(2) ‘Political Science’ is taught at a higher
level of education, therefore schools
should prepare grounds for it

(8) ‘Political Science’ is
recognized field of study

(4)" “Political ‘Science’ will prov‘ ‘political

training

‘Team Teaching’

(1)  encourages healthy competltlon among

teams of teachers in a school

(2) involves small teams of students as per
their ability

(3) involves teams of teachers to optimize
resources, interest and expertise

4) is a way out to manage with the |

shortage of teachers
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1 (39)

The major purpose of assessment in Social

sScience should be to

(1) gauge the extent of the knowledgc of
content acquired by learnu’s ‘

(2) maintain a desirable academm quahty
of knowledge in Lhe students passmg
out

(3) provide credible fcedback on the extent

to which educational objectlves have
been achieved 13

(4) predict the
. pursuing a
humanities

chances  of
~ career in

leame_rs’ :
successful

‘Child-centered’ pedagogy is
(1) teaching as per the desire of a child

(2) teacher explains the concept by
standing in the centre with children
encircling her

children’s

and their

(3) giving primacy to
experiences, their voices,
active participation

(4) to' teach children in small child care
centers to ensure individual attention

‘Social and Political Life’ textbooks
which of the following methodsl
contextualize education to a child’s world™

(1) They astutely intermingle the social
and political lives of Indian people

(2) They use a lot of case studies and
narratives in a mix of rural and urban
examples

(3) They cite results of many survéys done
in this reference

(4) They incorporate lesser
pictures to avoid distractors

number of

A trainee teacher writes one of the
instructional objectives as ‘students shall be
able to describe the meaning of democracy’.
In which domain shall this objective fall ?
(1) Synthesis

(2) Comprehension

(3) Analysis

(4) Skill
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it (40)

While teachmg an issue scnsxtwe to a

particular commumty, but descrlbed in the |

textbook,

(1) the teacher should respect the textbook |

and explain the facts as gwen

(2) the teacher should write  to the
authorities to omit the content,lous toplc
from the cumculum : ; :

(3) the teacher should explain the concept
with sensitivity and firm commltment
while respectmg the dlgmty of all
students | ||

(4) the teacher should ask students to
make notes on these i in the library or at
home

Cultural, social and class differences
generate their own biases and prejudices in
the contexts of classrooms. The approach to
teaching therefore needs to be

(1) Discussion-oriented
(2) Open-ended

(3) Lecture method

(4) Project-oriented

Which amongst the following N
with oral reasoning ?
(1) Imitating peers

(2) Writing an article by pronouncing
words loudly

(3) Impromptu application and

extrapolation of concepts
(4)  Narrating an algorithm

In order to promote interactive environment
in a Social Science class, which of the
following  approaches would be most
suitable ?

(1) Dictation and practice
(2)  Frequent testing
(3) Lecture and explanation

(4) Showing documentaries

81.
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85.

86.

87.
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A teacher while explamlng agrlcultural
practices  discusses = case studies on
agricultural practices m India and the USA
Which aspect of learmng is she/he focusmg
on ? i ! !

(1) Ability to understand the concept

i

(2) Ability to mterpret and explaln
(3) Ability to make a better pro_]ect
(4) Ability to learn? :by comparing and

contrasting through concrete examples

!

The question-answer technique can be quite |85.

effective in teaching Social Science as it
ensures :

a more disciplined class

an active participation by learners

students’ ability to respond better in
examination

(4)  students come into elass well-prepared

One of the most important and eff:
methods of teaching History at eleuwe
level is

(1) Lecture method
(2) Discussion method
(3) Question-answer method .

(4)  Story-telling method

In order to promote the process of cooperative

learning, the teacher should

(1) assign group projects

(2) engage students in debate and
discussions '

(3) divide the class into groups of

homogeneous ability

(4) allot individual

assignment to each
student :

84,
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89.

90.

it

While dealing with ‘Social Equality’, what
should be the most appropnate approach for
teaching ? i i

(1) Explaining the concept as descnbed in
the textbook ‘ ; E i

(2) Giving a pl‘OJeCt to students to review
texts relating to ‘Soclal Equahty

(3) Citing the, éexpemences " of the
communities that make up the social
and cultural milieu of the chlld

(4) Explaining in detail the practice of
untouchability

In teaching of Social Sciences, the emotions of
children are most easily aroused not by words
but by sights and sounds, for which the most
effective way of teaching is through

(1) Project method
(2) Lecture method
(3) Field trips and surveys

(4) Classroom discussions

While teaching the concept of ‘Weather and
Climate’, what would be the most appropriate
activity to make students understand the
various elements of weather ?

(1) Solve the worksheet provided by the

teacher based on the elements of
weather

(2)  Collect the weather report of five

consecutive days from the newspaper '

and stick in their notebooks

(3) Ask them to draw the symbols of
elements of weather

(4) Write answers to the questions related
to weather in the notebook
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Candldates should answer questlohs |
from the followmg Part only if they |
have opted for ENGLISH as

LANGUAGE - L.
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PART IV
LANGUAGE 1
ENGLISH
Directions : Read the passage given below and : '
answer the questions that follow (Q. No. 91 to 99) by There was an unexpected lapse on August
selecting the most appropriate option. 12, 1945, and consternation swept through the

Ministry of Works. On that dark day, the clock

was five minutes slow. A flock of starlings had
Every evening, some part of the British roosted on the minute hand.

Commonwealth hears the chimes of Big Ben, ‘

largest of the bells in the clock tower of the

The Big Ben

91. Aside from popular usége; Big Ben is really

Palace of Westminster. The bell is popularly thee

called Big Ben, and it is this bell which chimes (1) clock tower of the Palace of
out the quarter hours to the people of London. ~ Westminster

For Britons at sea or living in distant lands, (2) great bell in the clock tower of the
the sound of Big Ben is still a link with home, Palace of Westminster

for the chimes are broadcast each evening by 08 ecatusive sl o 'of the BBC

; (4) name of Chief Lord of the Woods and
Big Ben has been chiming out the quarter Forests

hours now for more than one-and-a-half

centuries. It started chiming on June 11, 18598

the British Broadcasting Corporation;

he year 1959 was the
anniversary of Big Ben

At that time, the Parhamenc
decide what to name the bell. / :
Member of Parliament called at
speech, to the impressive bulk of Sir Benjamin |
Hall, Queen Victoria's Chief Lord of the Woods 93. The word ‘consternation’ used in the last

year Big Ben was heard
anniversary of Big Ben
(4) year in which Big Ben was restored

and Forests. paragraph stands for
“Call it Big Ben,” said the speaker, and @) anmetfy
the name stuck. (2) despair
(3) alarm
Big Ben is 9 feet in diameter, 7 feet
: (4) sorrow
6 inches tall, and the thickness where the ’
hammer strikes is 8:75 inches. 94. In the Royal Astronomer’s 290-day check, 1t
was established that
The clock that regulates the chiming of
Big Ben keeps good time. In 1939, the Royal (1) the clock was reasonably accurate
Astronomer made a 290-day check on the (2) the clock was losmg time alarmmgly

performance of the clock. He found that during (3) the clock did not function properly for :

this test, the margin of error was less than 93 days

two-tenth of a second in 24 hours on 93 days
(4) the clock was maintaining accurate

and greater than one second only on 16 of the 5
time on all days

290 days.




95.

96.

97.

98.

99.

(45)

On August 12, 1945, Big Ben’s clock was

(2) 5 minutes slow
(3) being checked for accuracy
(4) 5 minutes fast

For the Britons at sea or living in distant
lands, the Big Ben serves as a link with
home. It shows that

the British are fond of travelling to

(1)
far-off lands

(2) the Big Ben has become a powerful
national symbol

(3) the British are very patriotic

(4) the British are very sentimental

People outside London can hear the chimes

of the Big Ben because |
(1) the bell’s sound is so loud that it can

travel to all parts of the world

(2) - the legendary bell has become a

phenomenon

(3) " the BBC broadcasts the chimes

(4)
available all over the world

The clock lost five minutes once because

(1) the maintenance was not done by the

Ministry of Works
(2) it was a dark day

(3)

minute hand
(4) there was an unexpected lapse

“Call it Big Ben” can be written in passive
voice as

(1) Let it be called Big Ben

(2) People should call it Big Ben
(3)
(4)

We may call it Big Ben

the recording of the bell's chime is |

some starlings had roosted on the

100.

101.

You will call it Big Ben

P

Directions : Read the poem given below and answer
the questions that follow (Q. No. 100-105) by
selecting the most appropriate option.

I Build Walls

I build walls:
Walls that protect,
Walls that shield,

Walls that say I shall not yield

Or reveal
Who I am or how I feel.

I build walls:
Walls that hide,

. Walls that cover what’s inside,

Walls that stare or smile or look away,
Silent lies, o
Walls that even block my eyes

From the tears I might have cried.

me

Those I love so very much.

Walls that need to fall !
Walls meant to be fortresses
Are prisons after all.

What are the walls in this poem made of ?

(1) Bricks or ariy physical material

(2) Cement and tiles
(3) Blood and flesh -
(4) Hidden feelings and thoughts

The poet uses “walls” as a

(1) Simile

(2) Personification

(3) Metaphor .
Alliteration

4)



P G e i

102. When walls act as a protcctwn tlu,.y 107. A child-centred classroom is chmctoriud.by.‘
(1) do not reveal What ¥ ;mw?‘.) (1) children sitting in the centre of the
(2) make one c;hed teats e : classroom

(3) touch the ones who are truly loved ; :

(4) surrender t4 Smmg feelmgs (2) éhildrien teaching other children under

the supervision of the teacher

103. The expression‘é“silent lies’ in the second (3) v;fery ipassive teachers and active
stanza implies that | L learne‘rs
1) walls o ot , i (4) a vanety of learning activities for the
(2) walls are liars : learners
(3) walls make one hlde ones true feelings :
(4)  walls lie silently around all of us 108. Which of the following is not a legitimate

purpose of assessment in education ?

104. Why is it not a good idea to have these

“walls” ? (1) To identify individual and special needs

of learners
(1) They act as a fortress,

(2) /They act as a prison and keep loved (2) To improve the teaching-learning
ones away. . process -

(3) They are made of bricks.

(4) They hurt others.

(3) To rank the learners on the basis of
marks

d out to what extent curricular
ives have been achieved

105. Walls built to protect us ultimat
a prison. It is an example of a
(1) satire :
(2) _paradox - When students learn a language for bright

2 ; employment opportunities, their motivation
) puzzle o » ,‘

is
(4) riddle ik
(1) intrinsic
Directions : Answer the following questions by (2)> Sxplie
selecting the most appropriate option. (3) eccentric
106. Constructivist approach to language teachmg (4) extrinsic
expects the teacher to :
(1) construct his own curriculum 110. A teacher uses a report from a newspaper to
: teach writing. The matenal used thus for
(2) make learners prepare their own teaching is referred to as 4

textbooks ' A Rl e . [
' (1) Realistic material !
(3)  help construct knowledge using their |

experiences

(4) give pre-constructed knowledge to (3) Authentic material
learners _ » (4)

(2) Natural material

External material -




111.

112,

113.

114.

115.

(3)

(47)

When a test item expeqts the learners to usex
tense forms, voice, connectors, preposu:ldns
and articles accurately, such an approach
can be called bl = ‘ o

(1) integrated grammar testing
(2) asserted grammar pracﬁlce -
mixed grammar task |

(4) 1improper grammar testlng

Minimal pairs are usually used to give
practice in

(1) vocabulary

(2) structures

(3) pronunciation

(4) reading

‘Prediction’ as a subskill is associated with
(1) summarising

(2) note making

(3) reading

(4) drafting

A teacher gives many sentences and asks
her students to arrange them into a letter
using appropriate connectors. The skill that
is chiefly involved in this task is

(1)

expanding notes

(2) organizing
(3) rewriting
(4) collecting information

The language skills that cannot be assessed
through a traditional pen-paper test are

(1)
(2)
(3)
(4)

reading and speaking
writing and listening
reading and listening

listening and speaking

116.

{117.

118.

{119,

{120.

(4)

P
Which of the following is not a study skill ?

(1) Note taking

(2) Using a dictionary

(3) Getting  information  from  an
encyclopaedla :4

(4) Writing formal. reports

When a teacher uses lessons in Science and
Social Science to teach language, such an
approach can be termed as

(1) - Pluralistic language teaching

(2) Discipline-wise language tgaching
(3) Language across the curriculum
(4)

Objective language teaching

Remedial teaching refers to teaéhing

to address gaps in learning

aftéf the regular school hours
t learners to excel
rs perlodlcally

Language skills should be taught
(D
(2)
(3
4)

_in isolation

through clear explanations

in an integrated manner

through imitation

After reading a story on fish, if a teacher
asks children to answer — “Imagine you are

a fish in a pond. What do you see around
you ?” This is an example of

(1
(2)
3)

Cloze type question
Open-ended question
Multiple choice question

Comprehension question:
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Candldates should answer questlons :
from the followmg Part only if they
have opted for HINDI as

LANGUAGE - 1.
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PART V
‘sl LANGUAGE II
wh .~ ENGLISH

Directions : Rcad thc passage gwen below and the priesf,'s and politicians who hold the
answer the questions that folIOw (Q. No. I21 to 129) '

string. They are fleeced and fooled on
by selecting the most approprmte optzon '

account of their ignorance. Half the ills of

It is yOur duty to tram and develop your man are due to ignofance.

mind and acquire knowledge, as much

knowledge as you posmbly can  obtain. 121. What, according to the passage, is the duty

Knowledge is hke a deep well, fed by perenmal of human beings ?
springs, and your Mmd is the little bucket that (1) To study correctly

ou drop into it: you w111 et as much as you
: 4 > 8 y (2) To acquire knowledge and develop the

can assimilate. The Brain, whlch is the ind

hysical f the mi i f the t
physical organ of the mind, is one of the two (07T Ditake Crirneives chitnret

precious_products of the acons of Evolution:

the other is the imponderable ‘Social instinct’, (4, To digest knowledge

This wonderful Brain, whose every convolution ;
i ; 122. “Mind has been compared to
represents millions of years of Time, really _

(1) a bucket

distinguishes you from the animals. Many

a deep well

animals have very powerful sense organs; the
eagle, the ant and the dog have !
of sight than Man. But no anim

evolved Brain and higher Intelli " 1f'You ;
do not develop and use this Brain lo the 123. For human beings, their brain is one of the
utmost of your power, you are more akin to the two products of evolution. The other is their
beasts than to Homo-Sapiens. (1) keener sense of sight

Knowledge and mental self-culture will (2) instinct for living in a society
confer untold blessings upon you. You will not (3) physical strength
be the victim of superstition and demagogy in {4) " Bl enltore sod Kiiowle o

religion and politics. You will know your duty

and do it. To be wise and independent in YOUr 1124, What is man like if he does not develop and
religion and your politics, not to be doped and use his brain ? -

duped by the selfish priests and the scheming (1) He is akin to the motionless statues
politicians of Capitalism and so called @) it s an akigel
Socialism: is this not a noble aim worth

striving for ? Most men and women today are @ 216 8kin 1o the beasts

He is greater than gods

not free and wise: they are like kites flown by (4)




125.

126.

127,

128.

129.

What will knowledge and mental self-culture‘
confer upon man ?

R

(1) Richness of knowledge x :

(2) Money and material%fhi-xigs
(3) Many blessings |

(4) Untold miseries

If one acquires knowledge ‘and develop$
mental self-culture, one wﬂl not be the
victim of i '
(1) breed
(2)

(3)

lust and carnal appetites
pugnacity

(4) superstition and demagogy

The author’ implies that most men and
women

(1) arearrogant in their behaviour

(2) lack social instinct

(3) do not possess capacity for
judgement

(4) are manipulated by priests and
politicians

Pick out a word from the first paragraph
that means the same as ‘inexhaustible’.

(L
(2)
(3)
(4)

aeons
convolution
perennial

imponderable

The word ‘untold’ as used in the second
paragraph is

(1)
(2)
(3)
(4)

a verb
a noun
an adjective

an adverb

(55) p

Directions : Read the passage given below and

~|answer the questions (Q. No 130 - 135) that follow
L by choosing the most appropnate option.

The study of hlstory provides many
benefits. First, we ;learn from the past. We
may repeat mlstakes, but, at least, we have
the opportunity to avmd them. Second, his tory
teaches us what questxons to ask about the
present. Contrary to some people’s view, the
study of history is not the memorization of -
names, dates, and places. It is the thoughtful
examination of the forces that have shaped
the courses of human life. We can examine
events from the past and then draw .
inferences about current events. History
teaches us about likely outcomes.

Another benefit of the study of histdr-y is
the broad range. of human experience which is
covered. War and peace are certainly covered
as are national and international affairs.
However, matters of culture (art, literature,
and music) are also included in historical
an nature is an important part of
0 ike passion, greed, and
fluenced the shaping of
ff ne who thinks that the
study of history is boring has not really
studied history.

By studying history we can
(D

130.
repeat mistakes

(2) predict the future
(3) avoid mistakes
(4) question the authority

Which method of teaching history would the
author of this passage support ?

131.

(1) Applying historical events to modern
society

(2) Using flash cards to remember specific
facts

(3) Weekly quizzes on dates and events

(4)

Analyzing wars and their causes
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132, History is all about 137.
(1) memorizing hﬁmcs,fdﬁtes and places
(2) understandmg mternatxonal affaxrs
(3) studymg abo t'a broad range of human
expenextce &4 ;! {
(4) maps, mform= thl’l amd detaxled data
133. History is not bonﬁg because
(1) it covers both Rvar and peace
(2) it studies human nature and culture
(3) it is full of historical events =
(4) it is about the mistakes we make
134. What is the main idea of this passage ? 138.
(1) Studying history helps us to learn from
the past
(2) ~Studying. history is = not just
memorization
(3) The role of history is to help students :
deal with real life
(4) Students' sheuld study both nation
and international history
135. Pick out a word from the fi
that means the same as ‘result
(1) benefits
(2) inferences
(3) forces
(4) outcomes
Directions : Answer the following questions by

selecting the most appropriate option. 140.

136. The most important feature of an effective

‘language classroom s opportunity for
learners to

(1) interact

(2) evaluate

(3) imitate

(4) relax

Curnculum is an educatwnal programme
~ which does not state ;

(1) the educational  purpose of a

programme

the content (material, etc.), teaching
strategies and learning experiences
which will be necessary to achieve this
purpose 5

(2)

(3) the means of evaluating whether these

educational ends have been achieved or

not

(4) the lesson planning details of the topics

In learning a new language, multilingualism
is

(1) _an asset
(2) © an interference
(3) a burden
(4) a methodology

skill ‘ean be best developed by
he/learners to

communicate in real-life situations

(2) | listen to the model provided by the
~ teacher

3) avoid all errors while speaking

(4) read challenging and difficult texts

Seating arrangement should be flexible in a ;

language classroom because

(1) it reduces the responsibility of the
teacher

(2) it helps the teacher in maintaining
discipline

(3) it helps learners change their places
frequently

(4) it facilitates pair work and group work
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142,

143.

144.

145.

(67)

i
i

Pre-reading tasks are mcdnt for

(1) giving the meanings of d;fﬁcult words

and phrases

main

(2) introducing  the ldea “and
motivating the ]earners | Eue :
(3) explaining the grammatlcal 1tcms used.

in the reading text

(4)
learners

Learners acquire a langua{,e by

(1) analysing the structure of the language

(2) studying the literature of that language
(3) learning about the culture of the
: speakers of that.language

(4) using the language in a natural

interactive environment

When a teacher asks her students to write a
letter after having a group discussion, she is

(1) integrating different language skill
(2) following a traditional method
(3) likely to confuse the students

(4) adopting the Direct Method of language

teaching

Picture comprehension is effective to promote
(1)
(2) listening skill
(3) literary skill

(4)

speaking skill

artistic skill

Comprehensive Evaluation refers to

assessment of .
(1)
(2)
(3)
(4)

academic subjects
both scholastic and co-scholastic areas
summative assessment tests

co-curricular activities

evaluating the readmg sklll of the

146.

147.

148.

150.

1)

Teachmg grammar xs useful to unprove

(1) ﬂuency
(2) hteracy
(3) numeracy |
(4) accuracy

A mixed abilit& %grOup is heterogeneous in

(1) gender and age

(2) social strata .
3) knowledge ‘and skill
4) economlc ‘statu_s

A good test on reading comprehensmn will

have questions

(1) that test the textual knowledge
thoroughly

(2)...that encourage learners to _write
answers without errors

(3) - that test inference, interpretation and

evaluation besides comprehension

ocus primarily on the structures
ed in the text

not  give
ers because

corporal

it is risky

(2) it creates stress and fear in learners
(8) it is only an emotional release for the
teachers
(4) it makes parents very angry

All-round development of a child implies
(1) harmonious development of physical,

emotional and mental' faculties

(2) specialized training to make the 1earner
a ‘Jack of all Trades’
(3) following the natural stages of child
development
(4) providing vocational education for the

learner to function in any work

environment
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Candldates shbu_ld answer questions
from the following Part only if they
have: +igptdd’ for HINDI = as
LANGUAGE - II. |

S, e o & g9 & S
ded T § afr IR wer— m W




) P
WMV ;
'W II.
o W#Wﬁﬁ/ﬁﬁaﬂmmwmﬁlzl SR # 59 A A IR Hha e T @ R
128)#W#maz%ra,wgﬁq1 : '

ﬁmmﬁmmﬂéﬁﬁﬁmél

m%ﬁ%m%ﬁ@?ﬁﬁ%ﬁmmaﬁﬁ"

# o A FwE R T A wER | W e
aedl &l fgd wic € 91 7 ¢ g9 e fag
fopefl-7-fopell i1 (AR @ 2-%2 o=t & @ s
TR & I3 ) & e v < @ <
g

A 1 G G § @ e ¥ A
¥ efal-Ta S e &K g T § SR
o aed W WM ¢ | T8 ged S9-o 92 A
AUl EAIHE TS A W A 6
ol o 98 S0 & S @ fF aed
TS ol dl WA h [T 37§ QR Hish e
Sl

A 7 MM W F A= s A F
Staq # #F-FA- S we § 2 9% fou
3R &9 39 37 H Tier amd 3R 39 =y
1 gftan # ik A E-aE  Raed w1 @S
I WfF #  fees o 8 — [ 9
aifey & @rell feferdi =t facger e @l d
SITge ol TerTel, HOTst ¥ o9 S el 3
s SR e, e S, fadel, A e
- T AT 4 37 G 9 |

122.

124,

125.

(1) méﬁmﬁ@ﬂmﬁﬁm
B

@) aﬁaﬁm—maﬁaﬁaﬁﬁﬁaﬁﬁ
T Ad 8§

) Wwﬁﬁaﬁ%ﬁawﬂmﬁ
@ W ¥

) aﬁraﬁzﬁ-@ﬁﬁéﬁm

HY-3 T g B §

(1) IR 2R fet v W o

(2) S faei & wfa o wHE @M
T ® ‘ _

(3)  fae =M S AT et
AN HE TS §

& T@Id ¢ |

(3) wmIfSTeRar
(4) FHet
ﬁmﬁf@aﬁﬁﬁnﬁa’ﬁﬁ%@{@h_
T el @ ?

L g
(2) AR H W fear

(3) wifed

(4) s

Tl I TS Sl B IHRA & faw

() R & 90 §ME 3% 2 oA =Ry
@) SHuET g gfE 9mE % e §
(3) W - HH I 2} AR

(@) 3% fad T9m 1 sitvElRe sfwor 2
ey




P

126. ‘S # A ey W o 2
(1) aﬁﬂaaﬁsﬁaﬁmm
(3) mﬁﬁwm%waﬁ@am
(4) m%aﬁf{?ﬁm

127. 9997 WS W@,
(1) wﬁﬁmw

(2) Sifdars g

(3) faemyor

(4) 9qHIEE G

TA RGN &1 waAd @i
(1) TR , |
(2) QredieET
(3) dIeHd
(4) Rer

128.

LCt W#wﬁmﬁﬁaﬁmww 99 @
135) H qaR 3T foweq giaw |

R it aedl dwer 1 Ffvw 21 ¢ -3
R 3w @ A fes

T TE Wl d 98 R % wer ar
forvarg a=ai i emarel @ Graael W S &9
AW AW A L & g @ Ao
s, @ o o o fows s a3
% SR W 98 W § | ,

% 9% H 39 UIS A A e (qH, et
a1 R ureel &) & ¥ @ At § S g 3
w2 | R T g e # S A
ﬁmi'mﬁﬁmﬁﬁh
mi’mﬂﬁm%ﬁémaﬁﬁ
%aﬁﬁm?ﬁﬁqaﬁﬁwmﬁmw

(60)

W IF AR FWH T H qe wul, wa g
oqIgT-4 |

AR Tl T A Y a
R fomm & 78w qegeE W A 2
UG 3% 9% e W & A & S ¥ 3% @
Wi'ﬁﬁwmﬁmﬂmm
HaTel W@ <ot § |

G F HH-91 WA YA FAT 2
(1) =0 A T OF ¥ R e

(2) = B J9% T W I IeE S

3) S EH TR R ¥ HE g 3w fw
i @A A S

(4) T T TGH FW T WY
FTRE B g qger wwe § A A
(1) ReEs =8 7@ 4 T W% ¢

(2) =A@ # qrgar § fava 98 fear s
) a1y §_aga. g @ @

) FETS H YGET

W’%‘@WW@WWW

129.

130.

. oedl
Wﬁa@é?

T A UH F fa affs e fi
ST @

(1)
(2)

£

T UgH & R AR aliF fwifa s
¥ Weg Wl @ :
TR ¥ 7 WA frar

6)) aﬁuﬁm%mamg
) T T FB T

@ T Go-dw ¥ I de ¥
(4) Towrs, sifves wgmr F@ s

(3)

(4)

132.




HEIE | (61) P
133. mwﬁmaﬁxm %hrhasrmﬂgawws mﬁmw ﬁmaﬁrmm%m

¢ ? b ﬁwﬁ@aﬁ{ﬁﬁqmmﬁwm@??
(3) A B (2) ToI G A G T G e
(4)  eTHar o | 3) qémmiﬂm

134.w@m§ﬁwaﬁrém?wﬁ (4)@%%?&3’-%1‘?—1@
H&%ﬁaﬁmwm%mm

ST A g e 139uﬁ1ﬁm§3wa%mwahﬂ?ﬁ?|m
(1) mg&mw%mmv ‘ ﬁm"%wf{mw}ﬁ:ﬁ?

(@) Ve I e R AR 2 [ ) o @ e B ow e
(3) MG YgHl S qf¥de i § 2 geuy ¢ :
(4) SR wer T qiwer Fi R g 2 (@ Wl @ @ FAmd fF Yt @ o

185, ‘W S H IR AT SOT ARy # Yifed o FE S

WET F YA ek g g § 7 ' (3)3ﬁsr%ﬁﬁsm#mwmm
(1) ‘TR, ST & fw |
(2) SHHRI, = F o fow
(3) ‘WS, ;= F fou
4 ‘e, Rem * fau |
3591 : [rfeiad Je4f % 3% 87 & fow waw
faseq gl |
136, 9 G § g areft gfeat
(1) S-S T STEwedr FF 3 Yoha &t § (3) = HR-¥R @y & o §

(2) =4 AT YA F FRO H wHy W

(2) T T F AR % s e § : ST

3) W T E, T 9 FOR WA g . m%‘m =

(4) gqﬁwmmﬁmmaﬁ%m' s i oot s B

HahTd § TR

, (1) w-Rrer &1 Fd A R S SR
137, %ni:aaammaﬁtmm@mw 2 - & Fd W W @ e wE

(1) W % fram dow wg et | T | |

(2)  -Fed HIR @A s § PITR AR TN

@) -wET @ e e e @ wmﬁmmrqwﬁm%ﬁ ‘
(4) T F EA-TEE F - Y-aE gy (4 T H wgE A TR T
& GAEY QI ‘ ST =IfeT 4%




142.

143.

144,

145.

(62)

A-HYE & 9R § FA-T 9 gL & ?

(1) 99 & R Fad FHa€ 9 4 & 9
EInE

(2) W & VA GER SfarHefid §

(3) 9N & Fo H W had YgA-feram
Tewyqul 2

4 Mk [ T Y FEd A F Few
G, e @ wewgul @ :

e st Wyl # P SEn Q@

(1) =di & Yga GHHEA & ATGAr
AEFAT AT B

YH-0F g9 § S A @

WA, TR @ S @ fwer 3yAn
TH-93 s ¥ R San @

(4) w=e @ e, 9Hg = el AW 8.

(2)
(3)

9IST &1 U3T-&ieh § @l bl W oA
(1) T H e ol 2

@) WU % fEle sen 2
3)

4)
Ted H FUET F A W F A w2
feh

(1) F=di & wed SEY %
i :

gedi @ fafy wER #  fowg-gmE

I F(E T

T R oW M Y v ¥ faw anm

el @ Ad-dld Yed % faw few

faw arem foram
(2)
(3)

(4)

146.

147.

148.

149

frafafaa & @ s9-9@ fawr &1 sifyarfn gex
T3 forar s snifrd & 2

(1) sfa

(2) SHHA

(3) fray

(4) Uehia
YIed-a&] H 9&EqUl 93

(1) 93T # vgell 3R sl vd &
2) 4 B guge § weg v @
(3) ool Hfmsi W & A S @
(4) T F THAE A w7 3

TRIR 3R AHIRAl & T T

(1) SV & 5@ 8

2 R ao-Rewr @ o) geEgt @y @

(3) | wifs sffefs @ guE s @

(4) % T TSl % IMARN S feem @

- & g ¥ FI9-91 F9q 9@ 7T 2 ?

) e § @y i ofEdwr syeea

(2) W F FETEE e B ¥ S
& Wem ¥ d A ST w @

©(8) NN e & 9 STafus weR war

150.

T ST =IfeT
4) .99g Wit gRaw
frfor @ &
-0 1 FHER U 39 WM W A

e

(1) w= H A dew FwEn a
@) aﬁfaﬁmwwmﬁﬁwaaim@
FAHO & W S @ e -
F THAH AR 7

I H A o FRR i SEc
A g T W @ frEm aw oo §

ﬁaﬁmﬁﬁyﬁfm

3

(4)




i st




(64)

10.

131;

12.

READ CAREFULLY THE FOLLOWING INSTRUCTIONS : -

Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Blue/Black Ball Point Pen on
Side-2 of the OMR Answer Sheet. The answer once
marked is not liable to be changed.

The candidates should ensure that the Answer
Sheet is not folded. Do not make any stray marks
on the Answer Sheet. Do not write your Roll No.
anywhere else except in the specified space in the
Answer Sheet.

Handle the Test Booklet and Answer Sheet with
care, as under no circumstances (except for
discrepancy in Test Booklet Code or Number and
Answer Sheet Code or Number), another set will
be provided.

The candidates will write the correct Test Booklet
Code and Number as given in the Test Booklet /
Answer Sheet in the Attendance Sheet.
Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager;
mobile phone, electronic device or any other
material except the Admit Card inside the
examination hall/room.

Each candidate must show on demand his/her
Admission Card to the Invigilator.

No candidate, without special permission of the &8

Superintendent or Invigilator, shouldplea
her seat.
The candidates should not leave thd I
Hall without handing over their Answer:
the Invigilator on duty and sign the Attendance
Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be
deemed not to have handed over the Answer Sheet
and dealt with as an unfair means case.

Use of Electronic/Manual Calculator is
prohibited. :
The candidates are governed by all Rules and
Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of
‘unfair means will be dealt with as per Rules and
Regulations of the Board.

No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

On completion of the test, the candidate
must hand over the Answer Sheet to the
Invigilator in the Room/Hall. The
candidates are allowed to take away this Test
Booklet with them.
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